
 

  

 

 

B.Com. DEGREE EXAMINATION –   
JUNE, 2019. 

Second Year 

CORPORATE ACCOUNTING  

Time : 3 hours Maximum  marks : 75 

PART A — (3  15 = 15 marks)  

Answer any THREE questions. 

1. What is External Reconstruction and purchase 
consideration? 

 ¦Ó^º Aø©¨¦ ©ØÖ® öPõÒ•uÀ ©Ö £¯ß GßÓõÀ 

GßÚ? 

2. What is meant by liquidation of a company and 
list out modes of liquidation? 

 {ÖÁÚU Pø»¨¦ GßÓõÀ GßÚ? Pø»¨¤ß 

•øÓPøÍ Á›ø\¨£kzuÄ®. 

3. What is amalgamation and state the objectives of 
amalgamation? 

 Cøn¨¦ GßÓõÀ GßÚ? ©ØÖ® Cøn¨¤ß 

÷|õUP[PøÍU u¸P. 

 UG–226 BAF–21/BCS–21
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4. A company issues 20,000 shares, the issue is 
underwritten by X, Y and Z in the ration of 5 : 3 : 2 
respectively. Unmarked applications total 1000 
whereas marked applications are as follows. 

X 8000 : Y 2850 : Z 4150 

 Calculate the liability of each underwriter. 

 J¸ {Ö©® 20,000 £[SPÒ ÂØQÓx. Ax 

•Êø©¯õP X, Y, Z GßÓ |£ºPÍõÀ 5 : 3 : 2 

ÂQuzvÀ ÂØÖzuμ Ehß£õk HØ£mhx 

SÔ°h¨¤mh Âsn¨£[PÒ ¤ßÁõÖ©õÖ. 

X 8000 : Y 2850 : Z 4150 

 SÔ°h¨£hõu Âsn¨£[PÒ – 1000 

 X, Y, Z –ß {Pμ ö£õÖ¨¤øÚ PõsP. 

5. Ramadan Ltd. Agrees to purchase the business of 
Krishnan Ltd. On the following terms 

 (a) For each of the 10000 shares of Rs. 10 each 
in Krishnan Ltd. 2 shares in Raman Ltd. Of 
Rs. 10 each will be issued at an agreed value 
of Rs. 12 per share. In addition, Rs. 4 per 
share cash also will be paid 
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 (b) 8% debentures worth Rs. 80,000 will be 
issued to settle the Rs. 60,000 9% debentures 
in Krishnan Ltd. 

 (c) Rs. 10,000 will be paid towards expenses of 
winding up. 

 Calculate the purchase consideration. 

μõ©ß ¼ªöhm RÌUPsh {£¢uøÚPÎß£i  

Q¸ènß ¼ªöhmiß öuõÈø» Áõ[P •iÄ 

ö\´ux.  

(A) Q¸ènß ¼ªöhmiß ¹. 10 Ãu® ©v¨¦ÒÍ 

10,000 £[SPÒ JÆöÁõßÔØS® μõ©ß 

¼ªöhmiÀ ¹. 10 Ãu® ©v¨¦ÒÍ 2 £[SPÒ 

JßÖ ¹. 12 Ãu® AÎUP¨£h ÷Ásk®. 

CuÝhß Tku»õP JÆöÁõ¸ £[QØS® ¹. 4 

Ãu® öμõUP® AÎUP¨£h ÷Ásk®. 

(B) Q¸ènß ¼ªöhmiß ¹. 60,000 9% 

PhÜmk¨ £zvμ[PøÍ wºÄ ö\´ÁuØS ¹. 

80,000 8% PhÜmk¨ £zvμ[PÒ öÁÎ°h 

÷Ásk®. 

(C) Pø»¨¦ ö\»ÄPÐUPõP ¹. 10,000 ÁÇ[P¨£h 

÷Ásk®. 

öPõÒ•uÀ ©Ö£¯øÚU PnUQkP. 
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PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the different kinds of shares. 

 £[SPÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

7. Explain the various methods of calculating 
purchase consideration. 

 öPõÒ•uÀ ©Ö£¯øÚ PnUQk® £À÷ÁÓ •øÓPøÍ 

ÂÁ›. 

8. Short notes :  

 (a)  Cum-Interest quotation  

 (b)  Capital Redemption Reserve 

 (c)  Profits prior to incorporation of company. 

]Ö SÔ¨¦ : 

(A) Ámiø¯ EÒÍhUQ¯ Âø»ø¯U öPõsh 

J¨£¢u¦ÒÎ 

(B) ‰»uÚ «m¦ Põ¨¦ 

(C) J¸ {Ö©® £vÄ ö\´ÁuØS •¢øu¯ C»õ£®. 
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9. The alpha manufacturing company Ltd. was 
registered with a nominal capital of 60,000 equity 
shares of Rs. 10 each. The following is the list of 
balances extracted from its books on 31st  
December, 2003. 

        Rs.                                     Rs. 

 Calls in Arrear  7,500 General Expenses 16,835 

 Premises 3,00,000 Freight  13,115 

 Plant 3,30,000 Salaries 14,500 

 Interim dividend  37,500 Directors fees 5,725 

 Stock 1.1.03  75,000 Bad debts 2,110 

 Fixtures  7,200 Debenture interest paid 9,000 

 Debtors  87,000 Subscribed and called 

 Goodwill  25,000 up capital 4,00,000 

 Cash in hand  750 6% Debentures 3,00,000 

 Cash at Bank  39,900 Profit and loss a/c (Cr) 14,500 

 Purchases 1,85,000 Bills payable 38,000 

 Preliminary   Creditors 50,000 

 Expenses  5,000 Sales  4,15,000 

 Wages  84,865 General reserve 25,000 

     Bad debts provision 3,500 

 Prepare trending and profit and loss a/c and 
balance sheet in proper form after considering the 
following adjustments 

 (a) Depreciate plant by 10% 

 (b) Write off Rs. 500 from preliminary expenses 
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 (c) Provide half year’s debenture interest due 

 (d) Create 5% provision on debtors 

 (e) Closing stock Rs. 95,000. 

 BÀ£õ EØ£zv {Ö©® JÆöÁõßÖ® ¹. 10 ©v¨¦ÒÍ 

60,000 ÷|ºø©¨ £[SPøÍ A[RP›UP¨£mh •u»õP 

öPõskÒÍx. ¤ßÁ¸® C¸¨¦PÒ PnU÷PkPÎ¼¸¢x 

31.12.03 À GkUP¨£mhÚ. 

              ¹.                                    ¹. 

 AøÇ¨¦ {¾øÁ  7,500 ö£õxa ö\»ÄPÒ 16,835 

 Pmih® 3,00,000 \zu®  13,115 

 ö£õÔ 3,30,000 \®£Í® 14,500 

 CøhUPõ» £[Põuõ¯®  37,500 C¯US|º Pmhn® 5,725 

 öuõhUP \μUS 1.1.03  75,000 ÁμõUPhß 2,110 

 ö£õ¸zv¯øÁPÒ  7,200 Phß £zvμ Ámi  

 PhÚõÎPÒ  87,000 öPõkzux 9,000 

 |Øö£¯º  25,000 AøÇzu £[S•uÀ 4,00,000  

 øP°¸¨¦ öμõUP®  750 6% PhÜmk £zvμ[PÒ 3,00,000 

 Á[Q°À öμõUP®  39,900 »õ£ |mh PnUS (Á) 14,500 

 öPõÒ•uÀ 1,85,000 ö\¾zx Esi¯À 38,000 

 öuõhUPa ö\»ÄPÒ  5,000 PhÜ¢÷uõº 50,000 

 T¼   84,865 ÂØ£øÚ 4,15,000 

     ö£õxU Põ¨¦ 25,000 

     I¯UPhß JxUS (1.1.03) 3,500 
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 RÌPsh \›PmkuÀPøÍ PnUQÀ Gkzu ¤ÓS, 

Â¯õ£õμ C»õ£ |mhz PnUS ©ØÖ® C¸¨¦{ø»U 

SÔ¨¤øÚ E›¯ ÁiÁzvÀ u¯õ›UPÄ®. 

 \›PmkuÀPÒ : 

 (A) ö£õÔ°ß «x ÷u´©õÚ® 10% 

 (B) öuõhUP ö\»ÄPÎÀ ¹. 500 ÷£õUöPÊxP 

 (C) Phß £zvμ Ámi Aøμ¯õskUS uμ 

÷Ási²ÒÍx 

 (D) PhÚõÎPÒ «x 5% I¯UPhß JxUS HØ£kzxP 

 (E) CÖva \μUS ¹. 95,000. 

10. Following is the balance sheet of X Ltd. As on 
31.12.01. 

 Rs.  Rs. 

6% Redeemable preference   Sundry Assets 1,70,000 

shares of Rs. 100 each.  1,00,000 Bank 1,12,000 

Equity shares of Rs. 10 each 1,00,000   

Share premium 2,000   

General Reserve 70,000   

Profit and loss A/c 10,000   

 2,82,000  2,82,000 
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 In under to redeem the preference shares 7,000 
equity shares of Rs. 10 each issued at per. The 
preference shares were redeemed at a premium of 
10% give journal entries and balance sheet after 
redemption of preference shares. 

 31.12.01 ® Bsiß X {ÖÁÚzvß C¸¨¦{ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ. 

 ¹.  ¹. 

6% «m¦ •ßÝ›ø©¨   Cuμ ö\õzxUPÒ 1,70,000 

£[SPÒ ¹. 100 Ãu® 1,00,000 Á[Q 1,12,000 

\õuõμn¨ £[SPÒ ¹. 10 Ãu® 1,00,000   

£[S •øÚ©® 2,000   

ö£õx Põ¨¦ 70,000   

C»õ£ |mh PnUS 10,000   

 2,82,000  2,82,000 

 •ßÝ›ø©¨ £[SPøÍ¨ «m¦ ö\´ÁuØPõP 7,000 

\õuõμn¨ £[SøÍ ¹. 10 Ãu® •P ©v¨¤À 

öÁÎ°mhx. •ßÝ›ø©¨ £[SPøÍ 10% 

•øÚ©zvÀ «m¦ ö\´¯¨£kQÓx. ÷uøÁ¯õÚ 

SÔ¨¥mk¨ £vÄPøÍ²® «m¦ ö\´u ¤ß 

C¸¨¦{ø»U SÔ¨ø£²® u¯õ›UPÄ®. 
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11. Z Ltd. is incorporated on 1.5.93 to take over the 
business of Y Co. as a going concern from 1.1.93 
the profit and loss account for the year ending 
31.12.93 is as follows. 

Profit and loss account of Z Ltd., for the year ending 
31.12.1993 

            Rs.                                     Rs. 

 To Salaries 72,000  By Cross Profit 3,10,000 

 To Rent and Taxes 24,000 

 To Commission 12,000 

 To Insurance 6,000 

 To Electric Charges 4,800 

 To Directors fees 6,000 

 To Audit Fees 3,200 

 To Advertisement 8,000 

 To Discount 7,000 

 To Office Expense 15,000 

 To Carriage outward 6,000 

 To interest on loan 6,000 

 To bank charges 3,000 

 To Preliminary expenses 13,000 

 To Bad debts 4,000 

 Net profit 1,20,000 

        3,10,000  3,10,000 
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 Total sales for the year ending 31.12.93 is  
Rs. 10,00,000 divided into Rs. 3,00,000 for the 
period up to 1.5.1993 and 7,00,000 for the 
remaining period. Find the net profit up to 
incorporation of the company and after 
incorporation of the company. 

Z ¼m. 1.5.93 AßÖ Tmk¸ÁõUP® ö\´¯¨£mk  

Y Aß÷Põ GßÓ öuõÈÀ {ÖÁÚzøu 1.1.93–¼¸¢x 

HØÖU öPõshx. 31.12.93 ÷uv÷¯õk •iÁøh¢u 

BsiØPõÚ »õ£ |èh P/S ¤ßÁ¸©õÖ. 

C»õ |mh P/S (31.12.1993) 

            ¹.                                     ¹. 

 \®£Í® 72,000  ö©õzu C»õ£® 3,10,000 

 ÁõhøP²® Á›²® 24,000 

 uμS 12,000 

 Põ¨¥k 6,000 

 ªß\õμ ö\»Ä 4,800 

 C¯US|º Pmhn® 6,000 

 uoUøP¯õÍº Pmhn® 3,200 

 ÂÍ®£μ® 8,000 

 uÒÐ£i 7,000 
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                           ¹.                                    ¹. 

 A¾Á»P ö\»ÄPÒ 15,000 

 öÁÎ yUS T¼ 6,000 

 Phß «x Ámi 6,000 

 Á[QU Pmhn® 3,000 

 ÷uõØÖÂ¨¦a ö\»ÄPÒ 13,000 

 ÁμõU Phß 4,000 

 {Pμ »õ£® 1,20,000 

        3,10,000  3,10,000 

 31.12.1993 Áøμ°»õÚ ö©õzu ÂØ£øÚ  

¹. 10,00,000 BS®. AvÀ ¹. 3,00,000, 1.5.93  

Áøμ°¾® ¹. 7,00,000 Auß ¤ÓS® HØ£mhx. 

{Ö©zvß Tmk¸ÁõUPzvØS •ß ©ØÖ® ¤ß 

EshõÚ {Pμ »õ£zøu PnUQkP. 

12. The following particulars relate to a limited 
company which has gone into voluntary 
liquidation. You are required to prepare the 
liquidator’s final account allowing for his 
remuneration @ 3% on the amount realised and 
2 2

1 % on the amount paid to the unsecured 

creditors. 
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 Share capital issued : 

 5000 preference of Rs. 100 each (fully paid) 30000 
equity shares of Rs. 10 each fully paid Rs. 12,000 
equity shares of Rs. 10 each, Rs 8 paid. 

 Assets realised Rs. 9,24,000 excluding amount 
realised by sale of securities held by the secured 
creditors. 

 Rs. 

Preferential creditors 24,000 

Unsecured creditors 8,51,094 

Secured Creditors  

(Security realised Rs. 1,62,000  

Debentures having a floating charge 1,38.000 

On the assets 3,00,000 

Expenses of liquidation amounted to 9,000 

 A Call of Rs. 2 per share on the partly paid equity 
shares was duly paid except in case of one 
shareholder owning 1200 shares. 
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 uõ©õP÷Á Pø»¨¤ØSÒÍõÚ J¸ Áøμ¯Ö {Ö©zvß 

Â£μ[PÒ R÷Ç uμ¨£mkÒÍÚ. Pø»¨£õÍ¸US 

ö\õzxUPÒ wºÄ ö\´¯¨£mhvÀ 3% –•® ©ØÖ® 

¤øn¯©ØÓ PhÜ¢÷uõºPÐUS ö\¾zx® öuõøP°À  

 2 2
1 % –•® Fv¯©õPU PnUQmk Pø»¨£õÍ›ß 

CÖvU PnUPÔUøPø¯z u¯õº ö\´P. 

 £[S •uÀ öÁÎ°mhx : 

 5,000 •ßÝ›ø©¨ £[SPÒ ¹. 100 Ãu® (•ÊÁx®   

ö\¾zu¨£mhx) 

 30000 ÷|ºø©¨ £[SPÒ ¹.10 Ãu® •ÊÁx® 

ö\¾zu¨£mhx 

 12000 ÷|ºø©¨ £[SPÒ ¹.10 Ãu® ¹.8 

ö\¾zu¨£mhx 

 ö\õzxUPÒ ÂØÖ wºÁõÚx ¹. 9,24,000 CvÀ 

¤øn¯U PhÜ¢÷uõºPÎh® ¤øn¯•ÒÍ 

ö\õzxUPÒ ÂØÓx ÷\ºUP¨£hÂÀø». 

 ¹. 

•ßÝ›ø© PhÜ¢÷uõºPÒ 24,000 

¤øn¯©ØÓ PhÜ¢÷uõºPÒ 8,51,094 

¤øn¯U PhÜ¢÷uõºPÒ  
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 ¹. 

(¤øn¯U ö\õzxUPÒ ÂØÓx ¹. 1,62,000) 1,38,000 

ö\õzxUPÒ «x ¤øn¯•øh¯   

PhÜmk¨ £zvμ[PÒ 3,00,000 

Pø»¨¦a ö\»ÄPÒ  9,000 

 1200 £[SPøÍ øÁzv¸US® J¸ £[Suõμº uÂμ 

AøÚÁ›hª¸¢x® ¹. 2 £Sv ö\¾zu¨£mh 

£[SPÒ «x AøÇ¨¦¨ £n©õP¨ ö£Ó¨£mhx. 

____________ 



 

  

 

 

 

B.Com. DEGREE EXAMINATION –  
JUNE, 2019. 

Second Year 

BUSINESS STATISTICS  

Time : 3 hours Maximum marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Discuss the importance of regression analysis.  

 öuõhº¦ ÷£õUS B´Âß •UQ¯zxÁzøu 

P»¢uõμõ´P.  

2. Analyse the problems in the construction of index 

number.  

 SÔ±möhsPÒ u¯õ›¨£vÀ EÒÍ ¤μa\øÚPøÍ 

Bμõ´P.  

 UG–237 BAF–22/
  BBCA–22
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3. What are the methods of constructing index 
number? 

 SÔ±möhs E¸ÁõUSÁvÀ EÒÍ •øÓPÒ ¯õøÁ? 

4. Explain the method of calculating rank 
correlation. 

 uμÁ›ø\ JmkÓÄ Psk¤iUS® •øÓø¯ ÂÁ›.  

5. Calculate price index number from the following 
information.  

Commodity Base Year Current Year 

 Kilo Rate (Rs.) Kilo Rate (Rs.)

Bread 10 3 8 3.25 

Meat 20 15 15 20 

Tea 2 25 3 23 

 ¤ßÁ¸® uPÁÀPøÍ öPõsk Âø»U SÔ±mk Gs 

PnUQkP.  

ö£õ¸ÒPÒ Ai¨£øh Bsk |h¨¦ Bsk 

 Q÷»õ Âø»(¹.) Q÷»õ Âø»(¹.)

öμõmi 10 3 8 3.25 

©õª\® 20 15 15 20 

÷u}º 2 25 3 23 
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PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. What is meant by average? and explain it types.  

 \μõ\› GßÓõÀ GßÚ? \μõ\›°ß ÁøPPøÍ ÂÁ›.  

7. Explain the types and characteristics of Index 
Number.  

 SÔ±möhsPÎß ÁøPPÒ ©ØÖ® Sn|»ßPøÍ 

ÂÍUSP. 

8. Explain the methods of measuring dispersion.  

 ]uÓÀ AÍøÁ°ß •øÓPøÍ ÂÁ›. 

9. Calculate four yearly moving averages from the 
following data. 

Year Value 

1992 41 

1993 61 

1994 55 

1995 48 

1996 53 

1997 67 

1998 62 

1999 60 
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Year Value 

2000 67 

2001 73 

2002 78 

2003 76 

2004 84 

 ¤ßÁ¸® Â£μ[PÎ¼¸¢x |õßS BskPÒ |P¸® 

\μõ\›PøÍU PnUQkP.  

Bsk ©v¨¦ 

1992 41 

1993 61 

1994 55 

1995 48 

1996 53 

1997 67 

1998 62 

1999 60 

2000 67 

2001 73 

2002 78 

2003 76 

2004 84 
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10. Calculate trend value from the following data 
using the method of least square.  

Year : 1994 1995 1996 1997 1998 1999

Production : 7 9 12 15 18 23 

 RÌÁ¸® ÂÁμ[PøÍ öPõsk SøÓ¢u ÁºUP 

•øÓø¯ £¯ß£kzv ÷£õUS ©v¨¤øÚ PnUQkP.  

Bsk : 1994 1995 1996 1997 1998 1999

EØ£zv : 7 9 12 15 18 23 

11. Calculate the correlation coefficient from the 
following data : 

X : 64 65 66 67 68 69 70

Y : 66 67 65 68 70 68 72

 RÌPsh ÂÁμ[PÒ ‰»® öuõhº¦U öPÊ PõsP.  

X : 64 65 66 67 68 69 70

Y : 66 67 65 68 70 68 72

12. Calculate the standard deviation of the following 
data.  

x : 0-10 10-20 20-30 30-40 40-50 50-60 60-70

f : 10 15 25 25 10 10 5 
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 ¤ßÁ¸® ÂÁμ[PÐUS vmh Â»UP® Põs. 

x : 0-10 10-20 20-30 30-40 40-50 50-60 60-70

f : 10 15 25 25 10 10 5 

––––––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION –   
JUNE, 2019. 

Second Year 

Accounting and Finance  

COMMERCIAL LAW AND INDUSTRIAL LAW 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3  5 = 15 marks)  

Answer any THREE questions. 

1. Explain the essentials of a valid offer. 

 J¸ ö\À»zuUP •øÚÂß Ai¨£øhz ÷uøÁPÒ 

¯õøÁ? 

2. State the meaning of continuing guarantee. When 
and how is it revoked? 

 öuõhº EzuμÁõu® GßÓõÀ GßÚ? G¨÷£õx Ax 

•iÄUS Á¸QÓx? G¨£i Ax •iÄUS Á¸QÓx? 

3. Distinguish between sale and agreement to sell. 

 ÂØ£øÚ ©ØÖ®, ÂØ£øÚUPõÚ Ehß£iUøP 

BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

 UG–238 BAF–23
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4. List out the objectives of Factories Act 1948. 

 öuõÈØ\õø»PÒ \mh® 1948 ß ÷|õUP[PøÍ 

£mi¯¼k[PÒ. 

5. State the need for the workmen’s compensation 
Act 1923. 

 öuõÈ»õÍºPÎß CÇ¨¥k \mh® 1923 Cß 

÷uøÁø¯ TÖP. 

SECTION B — (4  15 = 60 marks)  

Answer any FOUR questions. 

6. Describe briefly various kinds of contracts. 

 £À÷ÁÖ ÁøP¯õÚ J¨£¢u[PøÍ _¸UP©õP 

ÂÍUSP. 

7. What are Quasi-contracts? Enumerate the Quasi –
contracts dealt with under the Indian Contract 
Act. 

 ÷£õÀÄ J¨£¢u® GßÓõÀ GßÚ? C¢v¯ J¨£¢ua 

\mhzvÀ TÓ¨£mkÒÍ ÷£õÀÄ J¨£¢u 

GkzxUPõmk ]»ÁØøÓ TÖP. 

8. Explain implied condition and warranty in a 
contract of sale. 

 ÂØ£øÚ J¨£¢uzvÀ SÔ¨¤mh {£¢uøÚ ©ØÖ® 

EzuμÁõuzøu ÂÍUPÄ®. 
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9. Explain the various provisions relating to health 
of worker. 

 öuõÈ»õÎ EhÀ |»zxhß öuõhº¦øh¯ £À÷ÁÖ 

ÂÁPõμ[PøÍ¨ £õ¸[PÒ. 

10. Explain the steps and machinery of resolving the 
Industrial Dispute. 

 öuõÈÀxøÓ ÂÁõuzøuz wºUS® ÁÈ•øÓPøÍ²® 

C¯¢vμ[PøÍ²® ÂÍUSP. 

11. Discuss the ways of creating an agency. 

 •Pø© E¸ÁõUP¼ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

12. Explain the remedies for the breach of contract. 

 J¨£¢u «ÓÀ £ØÔ wºÄPøÍ ÂÍUSP. 

––––––––––––– 



 

  

 

 

B.Com. DEGREE EXAMINATION —  
JUNE, 2019. 

Second Year 

Accounting and Finance 

BANKING THEORY, LAW AND PRACTICAL 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Define the term bank. Explain the types of bank. 

 Áøμ¯ÖUP Põ»Á[Q ©ØÖ® Á[QPÎß ÁøPPøÍ 

ÂÁ›. 

2. What is credit control? How is it managed? 

 Phß Pmk£õk GßÓõÀ GßÚ? ©ØÖ® Aøu G¨£i 

{ºÁQ¨£õ´? 

3. Define the Banking Regulation Act 1949. 

 Á[Q Pmk¨£õmk \mh® 1949–Áøμ¯Ö. 

 UG–239 BAF–24
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4. Define the Customer. Explain the types of 
Customer. 

 ÁõiUøP¯õÍº Áøμ¯Ö ©ØÖ® ÁõiUøP¯õÍº 

ÁøPPÒ ÂÁ›. 

5. What do you mean by Paying Banker. 

 ö\¾zu® Á[Q¯õÍº GßÓõÀ GßÚ? 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the function of Modern Commercial Bank. 

 |ÃÚ ÁoP Á[Q°ß ö\¯À£õkPøÍ ÂÁ›. 

7. Define a cheque. Explain its essential features. 

 Põ÷\õø» Áøμ¯Ö, Azv¯Áõ]¯ ÂÍUP A®\[PÒ 

¯õøÁ? 

8. Explain the structure and functions of Central 
Bank. 

 ©zv¯ Á[Q°ß Aø©¨¦ ©ØÖ® ö\¯À£õkPøÍ 

ÂÁ›. 

9. Discuss the duties and responsibilities of Paying 
Banker. 

 ö\¾zvh® Á[Q¯õÍ›ß Phø©PÒ, ©ØÖ® 

ö£õÖ¨¦UPøÍ ÂÁõv. 
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10. What are the objectives and functions of 
Commercial Bank. 

 ÁoP Á[Q°ß  ÷|õUP®, ©ØÖ® ö\¯À£õkPøÍ 

ÂÁ›. 

11. Distinguish between Saving Bank Account and 
Current Account. 

 |h¨¦PnUP ©ØÖ® øÁ¨¦ PnUS ÷ÁÖ£õkPøÍ 

ÂÁ›. 

12. Who is a Collecting Banker? What are his general 
duties? 

 ÷\P›US® Á[Q¯õÍº Gß£Áº ¯õº, AÁ›ß ö£õx 

Phø©PÒ GßÚ?  

  

——––––––––– 



  

 

 

B.Com. DEGREE EXAMINATION —  
JUNE, 2019. 

Second Year 

Business Environment 

ACCOUNTING AND FINANCE 

Time : 3 hours Maximum marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What is cultural environment? Explain briefly. 

 £s£õmk _ØÖ`Çø» £ØÔ _¸UP©õP ÂÁ›. 

2. What is cooperative movement? What are its 
advantages? 

 TmkÓÄ C¯UP® Gß£x ¯õx? Auß |ßø©PÒ 

¯õøÁ? 

3. What are the objectives of eight Five Year plant of 
India? 

 C¢v¯õÂß GmhõÁx I¢x Bsk vmhzvß 

÷|õUP[PÒ ¯õøÁ? 

 UG-240 BAF–25
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4. Discuss the role of non-banking financial 
companies. 

 Á[Q \õμõ {v {ÖÁÚ[PÎß £[QøÚ ÂÁ›. 

5. Explain the advantages of multinational 
corporation. 

 £ßÚõmk {ÖÁÚ Aø©¨¤ß |ßø©PøÍ ÂÁ›. 

SECTION B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. What is mixed economy? What are its merits and 
of defects? 

 P»¨¦ ö£õ¸Íõuõμ®  GßÓõÀ GßÚ? Auß 

|ßø©PÒ ©ØÖ® SøÓ£õkPÒ ¯õøÁ? 

7. Analyse the Social Responsibility of business 
towards the community. 

 \‰Pzøu ÷|õUQ ÁoP \‰P ö£õÖ¨ø£ Bμõ´P. 

8. What do you mean by social and cultural 
environment? How socio -cultural environment 
affect business?  

 \‰P ©ØÖ® P»õa\õμ _ØÖ`ÇÀ  GßÓõÀ GßÚ? 

AøÁ Â¯õ£õμzøu GÆÁõÖ £õvUQÓx ÂÍUSP. 
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9. Discuss the objectives and functions of RBI. 

 ›\ºÆ Á[Q°ß ÷|õUP[PÒ ©ØÖ® £oPøÍ £ØÔ 

ÂÁ›UP. 

10. Explain the objectives of role of monetary policy of 
India. 

 C¢v¯õÂß £nU öPõÒøP°ß  ÷|õUP[PøÍ²® 

£[QøÚ²® ÂÍUSP. 

11. Explain the impact of linguistic and religious 
group on business. 

 Â¯õ£õμ® ©ØÖ® ö©õÈ°¯¼ß ©u \õº£õÚ SÊ 

EÒÏkPøÍ ÂÁ›. 

12. Give a detailed note on NBFCs. 

 Á[Q \õμõ {v {ÖÁÚ[PÒ ÂÁ›. 

—————— 




